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B.Com./II D

Paper IX—INCOME TAX AND AUDITING

Time : 2 ‘Hours

PART-A-INCOME TAX
(Admissidn of 2006 and onwards)
Maximum Marks : 50

(Write your Roll No. on the top immediately on receipt of this question paper.)

Note :— (i)
(i)
fewoit . —(p
(i)

Answers may be written either in English or in Hindi;
but the same medium should be used‘throu"ghout the
paper. |

The mé)_(imum marks printed on the questiorf paper are
applicable for the -students of the Category ‘R’. These
marks will, however, be scaled down broportjonately in
respect of the studenfs of regular colleges Category
‘A’ at the time of posting of awards for compilation of
result. | _
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Attempt Al questions.

aft g @ w5 wiSU

State True or False : 5

(a)

®)

©

(dy

(@

" Body of individuals should consist of individuals

only.
Casual income received by the assessee is fully

exempt.

Conversion of personal effects into stock-in-trade shall

be subject to capital gain.
Loss under the head .capitalv gain in a particular
assessment year can neither be set off nor carried

forward.

Agricultural land is exempt provided the land is situated

mn any rural area in India.
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sirfg w7 @ qea fwar S wE@ ¥
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The following are the particulars of the incomes of Mr. A

for the previous year 2012-13 : 15

(a)

()

©

)

©)

Rs.
Rent from property of Delhi received

in Uganda 80,000

Income from business in America

controlled from Delhi 120,000
Income from business in Bangalore

controlled from Germany ‘ 1,80,000
Rent from a property in America received

there but later on remitted to India 60,000
Income from deposits with an Indian compargy

received in U.S.A. 20,000
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(/)  Past untaxed profits from business remitted

to India from China 5,00,000
() Gifts received from his parents 2}0,000
Compute the income of Mr,. A. for the assessmehqyear
2013-14 if he is :
(a) Resident and ordinary resident in India
(b) Not ordinary resident in India

(¢)  Non-resident in India.

firer A 3 frea ad 2012-13 % for el & foaam

frefafed €
%.
(%) feeeh # wwfn w1 fEw gmed
¥ oW el 80,000
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1,20,000

1,80,000

60,000

20,000

5,00,000

40,000
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firer A 5 Freior 9y 2013-14 & fAQ S w1 SAHT
ity Al 9

(%) 9Ra B AR SR WHR S Tl
(@) 9RG F1 ERY G T T

(M) WG # e ¥
Or

(3rF=T)
The residential status is determined in each cateéory of
persons separately. Discuss in detail how would. you determine
the residential status in each category.
s et freRr o # o A0
qm:ﬁmw%lmﬁﬁ%ﬂaﬁﬁmﬁs
s weEm Ao § ororta fefi w1 fauRm B

A ?
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Mr. A is working with a company as a manager in Jaipur.

He has submitted the following particulars of his income for

the financial year 2012-13 : 15

(@)  Basic salary Rs. 2,40,000..

(b)  Dearness allowance Rs. 5,000 per month (forms part of
retirement benefits)

(c)  Education allowance for two children Rs. 250 p-m per
child.

(@ A fixed commission of 1% on sales turnover] of
Rs. 10,00,000.

(¢)  Entertainment allowance Rs. 700 p.m.

0] Travelling allowance for his official tours Rs. 30,000. The

entire amount is spent on official tour.
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He-was given cloth worth.Rs. 1,000 by ihis employer
ﬂee of cost.

He resides in a flat of the company. It's imarket rent
is Rs. 12,000 per month. A watchm‘an and a cook have
been provided by the company at the bungalow who
are paid Rs. 400 each per month.

He has been provided with a motor car of 1.8 ltr engine
capacity for his official as well as personal use. The
running and the maintenance cost are borne by - the
company.

Employer’s contribution to the R.P.F. is Rs. 40,000 and
the interest credited to it amounted to Rs. 16,250

@ 13%.

P“.T.O.
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k) Contribution of Mr. A to R. P. F. Rs. 40,000.

() Rent of the house received from the employee is
Rs. 1,500 p.m.

(m) Tax deducted at source from the salary Rs.-7,000.

Compute income from salary- for fhe assessment year 2013-14

assuming the population of Jaipur is 26 lakhs as per 2001

census.

fireex A SR A TH FEE A OwEER & €T H

Fm W @ ¥ s fada A 201213 foq s

s & Prefatea faew we@ R €

(&) A o 2,40,000 T |

(@) demE v (Jetgia. el w1 ?) 5,000 %

gfa @El
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(M) @ == @ fog faan w250 & uft AW Ul
S |
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T Y- WEM AW o' @ S g
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TR feam
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() T 4B WHER W & for iR =AfRT g

% fau of 18 T 99 &O@ Al HIEER
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off A oEd SR B
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T

(q) foX A %1 RPF. § AMEH 40,000 & ¥

(9) FH= ¥ W & FTA 1,500 . 9fd qE U
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(T) I ¥ W W HE T FL 7,000 T §l
frefcor o 2013-14 B foQ A @ o W sifueher
FIfT, I8 FEFL o AR F1 STEGT 2001 H SFIOA

$ HER 26 @ T

(3reran)
.Discuss th.e provisions of Income Tax Act for valuing the
following p§rquisites
(@) Rent-free furnished accommodation provided to the
employee

(b)  Free education facility to the wards of ‘emiployee
)

P.T.O.
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(¢) Medical facility to the family of employee

(d) Free gas, electricity .and water.

frefifen TRefed 1 qeE w0 % fa o

(%) Fertra-Tq gEfos oA wHe ®1 e
4

(@) wHe & onfudt @ s fuen w5 oglaen

(M) wHER & URER & fafec-glaw

(m) fagew T, fosel o wHh

‘An assessee is not only liable in respect of hisfown income

for the tax purposes but his liability may extend/to some other

incomes also. Comment on this statement. 15

‘wod R i T odew T e

% fou fomier @ & few SR Qi @31?1
dE WA B R sW weEm W feolt s
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Or

(3rerE)
Explain the provisions of Income Tax Act regarding set-off -
and carry forward of the following losses :
(@)~ Business losses
&) Short-term and 'long-term,capital.losses
(¢) = Loss from house -property
¢(d)  Gambling losses.
st ofufrm # frefafod wfdl & wesE
HIT

(%) =agE & g
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